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READENMZXT S KiEADEMZFTF S KA DKEEMIZXET D

#BA SHEATTHEHE SHEAFTHIEE HHEAMTHHE

T mmEsa | acevm | mEems (o) | AT (o'
1 | FHH 4,074,226 | KEHK 214,630 | KHRX 1,212,540
2 | 3,223,925 | B 184,690 | FiBERX 910,190
3 |EEREH 3,037,842 iI®K 145,894 | =X 720,494
4 | R 2,686,980 | BiIX 71,205 | FH 2 EEERER £ EE AT 604,808
5 | KHK 1,620,680 | RiER 59,137 BIFIX 567,868
6 |BEH 1,485,319 |iIF IR 54,506 |ETAT 536,853
7 |SAfTH 777,434 | IR 46,520 | ERX 317,890
8 |/\EFmH 656,721 | #HEX 38,238 [iIREK 316,745
9 |BfiX 629,791 | B 30,530 |HRiERX 139,615
10 [IIERR 480,490 |dLX 17,689 | BiX 136,195
11 KBRS 416,946 |BBE™ 16,430 |;A#AmH 88,250
12 |B%mH 409,853 |&E#A™ 12,859 | /\EF 86,640
13 |RiER 339,757 |BTE™ 9,915 |3ZJIlTh 83,686
14 BIFRIK 281,373 | /\EFH 9,365 |BBE™ 66,378
15 |tHEAX 184,158 | HEFX 8,101 | FFep 64,195
16 |ETHT 168,826 | FEimh 6,122 [dEX 52,228
17 |2 156,100 | BE 4,858 | X 49,284
18 |#HERX 145,566 |E L 4,550 | B 32,534
19 |EER 125,466 | fFh 3,525 | s 28,830
20 | & 121,965 |3Z)iIth 1,320 | hEF X 27,541
21 | 106,976 | =™ 1,132 | =25 24,426
22 | BR 106,159 | PG EEEREL & EE AT 712 | FHEH 24,204
23 |@lIX 106,029 | = 5% 397 |EiLH 18,112
24 |BERX 100,211 | FHEF 27 | =™ 8,690
25 | 84,336 | KXFIH 2 | XER 0
26 | KEHT 73,690 [EERX 0 | FEZ EERE O HET 0
27 |/hEH 68,434 | Fa % EEERIm AR AT 0 || 0
28 | EZ EERIRTEET 67,935 | BHEEX 0 | X% 0
29 | HEBH%HH 67,186 | RJIIX 0 |fB&EM 0
30 |EHK 64,853 |#HERX 0 | = X#0m 0
31 |/\X5/\XH 59,478 | FHET 0 |RABE XN 0
32 |=fEm 50,299 | REA LT 0 | ZEm 0
33 |FEEH 49,797 |EER 0 | Bt 0
34 |FREm 36,125 | XEEX 0 [AREM 0
35 |EiLm 36,047 |/NERA 0 |ERKE 0
36 |3IlllTh 35114 | 8K 0 | KSHT 0
37 |#HEH 33,160 | FRER 0 [/MERK 0
38 | ZEM 32,894 | Ek % 0 |miImd 0
39 X 31,857 |miIh 0 | FRHERX 0
40 |2ER 31,749 | AR 0 |8 0
41 | /NERF 30,146 | RAB KM 0 |#HEARX 0
42 |HHRX 29,770 | /& HH 0 | HE# L 0
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#BA SHEATTHEHE SHEAFTHIEE HHEAMTHHE

] (10°m?/ ) HRATH 4 (10°L/ ) AT £ (10°L/%)
43 | EBK 26,219 | 2EH 0 |/h&Hmh 0
44 | XER 25,547 |/NETH 0 |BEERX 0
45 |RABXN 24,317 | Pxih 0 J/hEMm 0
46 |5 23,938 | BHv BH 0 |FREX 0
47 &I 23,652 |BwEET 0 |=EB==H 0
48 |==B==# 23,437 | FIBH 0 | /8 2 E AR ERTEET 0
49 |HhREX 21,251 | FA % EEER H O tHHT 0 | FISH 0
50 |FIS+t 18,890 | HEEH 0|2ER 0
51 |E#TLmH 16,581 | KSHT 0 | 2SS 0
52 |/h&Hm 16,471 | S+ 0 |BEER 0
53 |EonEH 14,690 | FRX 0 | &JIEX 0
54 |FEZLEENHE O HHET 14,461 |[HHEAX 0 | &k S+t 0
55 | FHRHERX 13,726 | =B =% 0 |EHK 0
56 |BRKX 12,624 |EHFH 0| &~ Bt 0
57 |REEm 5,437 |\ B/\3CH 0 |/\L5/\XHT 0
58 B4 5346 | EHK ) EXE1 0
59 |HESH 5315 |f8£m 0 [#iiX 0
60 |PELERRR L ERT 4,600 | AT LT 0 |En=F 0
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